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OgxA & JIAIUIIA 29|
300,000& =122 3,600
02 =224l 98,250 108,642
03322 % HA 69,450
—SEAE (A 87,4703« 123 1,050
—RERS 5,500,000 «12& 66,000
—HUAE IR 200,000 122 2,400
OA&EHl s Xl 6,800
— &A1 R4 2,000,000 2,000
— ROIZHIAIAE SAHI (S SIS, JIEHA|
A, 30tel& D) 400,000& x12& 4,800
OXt& & Byl 22,000
— XtEs Al 22,000
st 15,000,000 *1CH 15,000
ER=N] 2,500,000% *1CH 2,500
A=l RPN} 2,500,000 = 1CH 2,500
LR 2,000,000% *1CH 2,000
203 YR =&t 6,175 175
03 A FAH S =AY 6,175 175
OgENY or¥ae & MY =X
3,500,000 «95% 3,325
OgsNY dHAIY = 1,000,000 «95% 950
OXgeotdae & GHAY =2
2,000,000 %95% 1,900
A2l 2,400 ,600
201 L Et2A | 2,400 ,600
02 232gHl 2,400 ,600
OA&&EHl Sl 2,400
—EA SAE=HI 200,000& =128 2,400
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201 Let24E] 34,200 ,590
01 AFR2t2lH] 31,060 ,090
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— XA DXNA K2 12,200
- &0 DKM 80,000& 704 Kt 5,600
- =AlE OXA 60,0003 1104 At 6,600
— XNZA DXAM CIOIE ol 5,800
-E8Il2 LXNAM 403 %145,000A 5,800
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AN EEXF 0
TEH: A
(=R B

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2

= 93,730
Al 66,957
- 66,957

307 2I2+0 & 227,644 272,480 44,836
= 93,730
Al 66,957
- 66,957

02 QIZ2FA AAIE E X 227,644 272,480 N44 836
OKJI&H 2 XA 227,644 ,000& 227,644
= 93,730
Al 66,957
- 66,957

EAXHSH X 998 4,829 A 3,831
= 798
Al 100
5 100

307 QI2t0| & 998 4,829 A 3,831
= 798
Al 100
5 100

02 QI2tAMAIE E X 998 4,829 N 3,831
OEL MM X 998
= 798
Al 100
- 100

CIZME Z2XA 16,326 26,592 N 10,266
Al 8,163
- 8,163

307 2iz2to| & 16,326 26,592 N 10,266
Al 8,163
- 8,163

02 QIZFA AAIE E X 16,326 26,592 AN 10,266
OezBAE 22X 16,326,000 16,326
Al 8,163
3 8,163

HESS 22 AMY 2,152 4,340 N2,188
Al 1,076
- 1,076

307 ciztol A 2,152 4,340 N2,188
Al 1,076
- 1,076

02 AI2tAAMAIE E =X 2,152 4,340 AN2,188
OHEZSZE 2= MY 2,152
Al 1,076
- 1,076

sSHE HEol SHXRAIS 50,000 50,000 0
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el

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 50,000 50,000 0
02 QIZHA AAIE E X 50,000 50,000 0
Os&2 o 2 X
40,0002 *312.5ha*43] 50,000
A XA 40,000 48,700 A8,700
307 212t0| & 40,000 48,700 A8,700
02 DIZHB AAIE E X 40,000 48,700 A8,700
OY s KSAS 40,000,000 40,000
=EI&=STHEH A& 50,000 22,100 27,900
= 40,000
Al 5,000
- 5,000
307 2iz2to| A 50,000 22,100 27,900
= 40,000
Al 5,000
- 5,000
02 QIZFA AAIE E X 50,000 22,100 27,900
O=El&=STHE X & 50,000,000 50,000
= 40,000
Al 5,000
- 5,000
dEk=2aed K| 500 0 500
= 500
201 et 500 0 500
= 500
01 AP 22| H| 500 0 500
oxgad=2e|d AH 500,000& 500
= 500
GAPOHE A 2AM XA 1,547 0 1,547
= 773
Al 387
- 387
307 2Iz2t0| & 1,547 0 1,547
= 773
Al 387
- 387
02 QI AAIE E X 1,547 0 1,547
OGAPRIE H E2A&XJ 1,547,000 1,547
= 773
Al 387
5 387
SMHE FENMsS S8t s &5 SU 79,826 77,398 2,428
Al 6,913
- 72,913




AR E==PAR= I
A

HE: M) Ee=XsEME
Sl S42 RENME S8 50t AS B0 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sttE RS=FH N 2,640 2,650 A10
Al 1,320
- 1,320
307 gl2tol & 2,640 2,650 A 10
Al 1,320
- 1,320
02 It HAHE L 2,640 2,650 A 10
Ostts RS=FH X 2,640,000 2,640
Al 1,320
- 1,320
s&E Mol2Eddz X 4,590 4,590 0
Al 2,295
T 2,295
307 glz2+0l & 4,590 4,590 0
Al 2,295
T 2,295
02 HAHFHAANGEEE 4,590 4,590 0
O=s&=2 Moz K& 4,590,000 4,590
Al 2,295
- 2,295
SHE AXI| NFAAS 18,000 18,000 0
402 RI2HXt20l ™ 18,000 18,000 0
01 212t 2 AL E = (REM ) 18,000 18,000 0
Osdtg AX20 NI AL
5,000, 000 *6CH *60% 18,000
s&E ZEM KA 30,000 30,000 0
307 21201 A 30,000 30,000 0
02 HAFAANGFEX 30,000 30,000 0
Ostts ZE XE A
1,300& x38,4610H x60% 30,000
A2ESIAH KNEAY 18,000 18,000 0
402 RI2EX=20l A 18,000 18,000 0
01 U2 E2ALE X (XA R) 18,000 18,000 0
O28sIIAH XNEAY 3,000,000 *10CH *60% 18,000
sgol otdEdEZ X 6,596 0 6,596
Al 3,298
- 3,298
307 21201 A 6,596 0 6,596
Al 3,298
- 3,298
02 QB AAFEX 6,596 0 6,596
O=sgeol etdeEdz X 6,596,000 6,596
Al 3,298
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